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1. The basic instruction fetch unit of MIPS computer system is given below. Please add the necessary
elements to it so that it can incorporate-
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2. A simple MIPS datapath and its respective control signals are illustrated below.
Please design the control bits corresponding to the instruction “sw rt, 0(rs)”

for this datapath. 6x3=3
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3. What problem will the computer industry face if they continue to increase the clock
frequency to make the computers faster?

4. What is the required property of a data path for pipeline implementation?

5. What do you mean by structural hazard in instruction pipelining? How is it over-
come? Explain with time-space diagram.



